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. Ravi cycles 3 km towards the
east and takes the first right turn
and cycles for another 5 km 1o
point A. From point A he takes a
left furn and cycles 7 km to point
B, after covering another 4 km he
rests for a while. How much dis-
tance has Ravi covered from
point A till the time he stops.

(A) 16km  (B) 11 km
(C) 19km (D) 15km
(E) 8km

. The position of how many digits
will remaln the same if the digils
in the number 2567394 are rear-
ranged In ascending order from
lett 1o right 7

(A} More {B) One

G} Two (D) Three

(E) More than three

. How many meaningiul English
words can be made from the
latters IRA, using each letter only
onee in each word 7

(A} Nonhe (B) One
(C) Two (D} Three
(E) Four

. How many such pairs of letlers
are there in the word INTRUDE
each of which has as many letters
batwaen them in the word (in both
forward and backward directions)
as they have belwean them in
the English alphabetical order 7

(A} Mone (8) One
(C) Two {D) Three
(E) Four

. I A means '+, B means =, C
means = and D means '+
then—

12BRBCED2A4=7

(A} 21 (B8] 94
{C) 84 (D) &7
{E) 850

. Iieach of the vowels in the word
HONESTLY is changed lo the
next letter in the English alpha-
betical series and each conso-
nant is changed to the previous

10.

letiar in the English alphabetical

series, and ihen the alphabels so

formed are arranged in alpha-

betical order from left ta right, the

positions - of how many af the

following alphabets will remain

unchanged 7

{From that of before arranging in
alphabetical order)

(&) Mone (B} One

(C) Two (D} Thres

(E) More than three

‘AR’ Is related to 'EF"in the same
way as 'lJ' is related lo—

(A) MN (B) KL
(C) OF D) LM
(E) NO

A, B, C and D live in a building
having 14 floors, A lives two
floors above B, C lives on the
14th floor immediately above A.
D neither lives immediately above
nor immediately below B. The
first 7 floors of the building are
yacant, On which of the following
floor does D live 7

(A) Bth (B) 10th

(C) 12th (D) 8th

(E) Cannot be determined

It it is possible to make only ane
meaningful word with the second,
third, eighth and ninth letters of
the word ABDUCTION, which of
the following would be the second
letter of that word from the lefl
and 7 If no such word can be
made, give ‘A’ as your answer
and if more than one such word
can be formed, give your answer
as ‘2

(A) A (B) O
(C) N (D) B
(E) Z

In a cerain code '‘AEROBIC is
written as ‘BFONAJD'. How is
ADVERTS written in that code 7

(A) BEQUDUT (B) BUEDQUT
(C) BEUDQUT (D) BEUQDUT
(E) BUEQDUT

Directions—{Q. 11-15) Sludy
the following information carefully and
answer the given questions—

Eight Iriends A, B, C, D, E, F, G
and H are silling around a circular
table facing the cenlre and are equi-
distant from each other. D sits exactly
betweaan E and H. A Is third 1o the left
of G and G sits opposita F. E 15 third
to the lefi of C.

11. How many pecple sit between E
and B when counted in an anti-
clockwise direction rom B 7

{A) One (B) Two
{C) Three (D) Four
(E) Five
12. Who sits second to the lefi of 7
(&) F (B) E
(C) D @) H
(E) G

13. In which of the following pairs, is

the first person silting o the
immediate et of the second
person Y
(A) BC {B) CA
) GB {D) HO
(E) AF
14, KB;DthenC.?
(A} E (8 F
ic) G Dy O
(E} H
15. What is the position of F with
respect fo B in the above

arrangement 7

(A) Fourth to the lefi

(B) Second to the right
(C) Third to the left

(D) Fourth to the right
(E) Immediate to the right

Directions—(Q. 16-20) The
following guestions are based on the
five three digitnumbers aiven below—

356, 4497, 812, 738, 284
16. If &ll the numbers are arrangad in
agcending order from lefl o right,

which af the following will be the
sum of all the three digits of the
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number which is secona from the
left of the new arrangermeant thus

formed 7
() 14 (B) 19
(Y 2n (o 11
(E) 12

17. What will be the resultant # the
third digh of the secord lowest
number is divided by the third
digit of the highest rumber 7

Ay 2 e a
() 4 (D) 5
(E) 26

18. W '2' ie subtracled from the last
digit of every odd numbsar and *1'
Is added 10 the [ast digil of every
even rumber, what wil ba the
differance betwsar the highest
and the lowest numbers thus

formed 7
(A} 380 (B} 458
(C) 318 (D} 548
(E) 242

18, It all the digits in each of the Jum-
hets are arranped i descanding
arder within the number, which of
the followling will form the second
highest number in the new
arrangement of numbers 7

{A) 356 (B) 497
(C) &i? (D) 738
(E) 264

20. If the positions of the first and the
second digis of @ach of the num-
bars a'e interchanged, in how
many numbears thuz formed will
the firstdigil be a pedect square ?

{"1"is also a perfect square)

(A} Ore (O) Twe
(C) Three (D} Four
(E) Five

Dirmctions— (1 21-25] In aach
of the questiona below are given thrae
stalements (ollowed by lwe conulu-
sions numbered | ard [1. You have to
take the given statermerts to be true
ovon if thoy scem to be at varanco
from commaonty snown facts and then
decide which of ihe given conclusions
Ingically follnws frorm the statemeants
digragarding commuonly known facte
Giivez answer —

(&) Honby conclusicn | iollows.
(B} 1T only conciusicn il lollows,

() If mither cnnclusion | or con-
clusion Il follows,

D) I nieither conclusion | nor
ronchizian [ follows,

E) IT both conclusions | ard 11
follows.
21. Statements :
Some drawings are paintings.
All drawings are sketthes.
Some sketches ere Interesfing,
Conclusions :
[, All paintngs are skeltches.
Il. Some intorcsting ars draw
Ings.
22 Btatoments :
All pebbles are sone.
Mo stone is £ diamand.
Sorne precious are diamonda
Conclusions :
I.  Some pebbizsare diamonds.
II. Some slones are precious,
23. Statomants :
All journeys are dislances.
Some distances are nof journays.
Some journeys are vacations:
Conclusions :
. Some distances ars vaca-
fions.
[I. Some wvacations
|ourney's.
24, Statements :
All computers are machines.
All machines are expansive
Al expensive are scanners.
Conclusions :
At least some scanrers are
machines.
I Some computers are not
Bxpensive.
25, Statements |
All colleges are institutions,
Some inshitutinns are buildings.
Fome bulldings are colleges.

are not

Conclusions

[, Bome instilutions ae both
colleges and buildings.

II. Mo colisge i a building.

Directiong —((0. 26-30) In aach
guestion below is given a number!
symbal followed by five combinations
of lefter codes lattered (A), (B), IC),
(D} and (E). You have to find out
which of the combinations correctly
rzpresents the number’symbaol based
on the tellowing coding system and
the conditions and mark the letter of
that combination as your answar.

NumberSymbol :
fFodkdB@TEAGC AR
Letter Code ;
PYVATSCKEMBGLENXDA
Conditions ;

(i IFthefirst element ia an even
digit aodd the last a syt
the even digil is o be coded
as the code for tha last
symbol,

i} I thegroup ol elements con-
tains only one symbal, that
symbol isto be coded as the
code tor the elemant follow-
g i

{ii) If both the second and the
fifth elemments are numbe:s,
the fifth number Is to 2e
coded as the code for he
sacond number

26. #95x2@
(&) TOVXDK (B) TDXVDK
(G} TOVXDK (D) TOVXDIK
(E) TXDVDK

27, Th#3@E{
(A] PNISKE  (B) MNKISH
(C1 MNSTKP (D) PNTSKM
(E) MNTSKP

28, 549487
(4 VDDWMCR (B VRDDCHM
(C} VDDCRM (D} VDRDCM
(E} VDDRCM

29, 4io1ER
(&} ATSGYR (B) ATVGSA
(L) HIVGSH (L) AlGVSA
(E} ATVSGA

an. m3ABGLS
(A} XVSNAE (B) XSANSE
() XSMNAVE (D) XMNSASE
(E) #SMASE
Dircetions. (. 31 358) n the

tollowing questions, the symbols #,
&, # & and % are used with the

following meaning  as  illustrated

below

‘A6 B means ‘A is grealer than B

‘A% B means ‘A is equal to 0,

‘A# B  means 'Ais aither equal to
or smaller than B .

‘A& B meals 'Als alther equal to
or greater than B,

‘A B' meants ‘A is smalar than B,
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MNow in  each of the tollowing
questions assuming the given state-
mants to be trus, find which of the
two conclusions | and |l given below
them is/are definitely true 7 Give
answer—

(A} If only Conelusion | s frue,

{B) If only Conclusion 11 is true.

(C) If either Conclusion | ar 1l Is

frue.

(D) If neither Conclusion | nor 1|
is true

(E} H both Conclusions | and [l
are trus,

31. Statements
S9%AARD DxJ
Conclusions : |. D#S
I A %*Jd

32, Siatements :
O®FFw%C N*C
Conclusions : | O@C

I F & N

33. Statements :
RAP, PxK KxF
Conclusions : |. R@F
Il. P*F

34, Statements :
MAEF, F*C, C%K

Conclusions : | M@C
Il. Fa& K
35. Statements :
PAT, TR R#B
Conclusions : |. P@T
. B&T
Directions—{CQ. 36-40) Study

the following arrangement carefully

and answer the qguestions given

below—

@E5TI4GHK¥%9BABE&ZU

XBWO1InSHLSEVTR

36. Which of the foliowing elements
is ninth to the right of the Titeenth
fram the left end of the above
arrangement ?

Ay 2 (Bl H
<) G D) 8
{E} =

7. If all the numbers and vowels are
dropped lrom the above amrange-
ment, which of the following will
be the twelfth from the lefi end of

the arrangement 7

(A) = B W
c) Q D) s
(E) %

38.

4,

42

43.

44,

46,

47.

49.

50.

How many such consonants are
thara in the above arrangement,
gach of which is immediately
followed by an odd number 7

(A) Mone (B) One
iC) Two () Three
(E} Four

How many such numbers are
there in the above arrangement,
each of which is immediately pre
ceded by a symbol and imme-
diately followed by a letter 7

{A) MNone

(B} One

(€} Two
(D) Three
(E} More than three

40. Four of the following five are alike
in a certain way based on thair
positions in the above arrange-
ment and so form a group. Which

i5 the one that does not belong to

that group 7

(A) aK# (B) 1HS
(C) Uws (D) 9AB
(E} HV5

Directions— (0. 41=50) In each of the guestions given below which one
of the five answer figures on the night should come after the problem figures on
the left, if the sequence were come,

Problem Figures Answer Figures

Dl s I B 3 v 3 s
Ay B () (D (B

* Oot@o #+uvojlx 0O [TomloT @0 &0 o®Rjo T *

i A = u o T

(5] Hio € & B =0la = GO *lo* QIO O &0 TR0 0N
Ay B (€ (O (E)

o c =] {m]

I__*'i aacal B ﬂ .:-.E pacplasoc|ocanlaocolocoa

o Fa e (=]
Ay (B (G (B (B

CCIDCIIOM O L O 0442
A B .y (B (B

RO\ | || e || ke | e | K| e
A B (€ @ (B

X | X|b| K| | b ||| |P
A By (G (@ (E)

; & s o

ode| 3¢ oo | K || | K| K[ K| K| X
(A) B (€Y (D) (E)

OO|O|O12]|C|C|O|T|O
(A} By (€ (D) (E)

:-Vq )-,( qh chc >V‘> n:hc (fc' >:> c::- 113
Ay (B (€ (D) (E)

oo |alall|lo|a|d| oo
Ay B (€ (D) (B

al
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Answers:

Reasoning

1

(B)

(B)

26

(A)

(B)

27

(E)

(€)

28

(E)

(D)

29

(B)

(B)

30

(E)

(A)

31

(A)

(E)

32

(A)

O |IN|OO» (S~ WN

(B)

33

(B)

=
o

(€)

34

(B)

[y
[y

(€)

35

(D)

[
N

(A)

36

(D)

=
w

(D)

37

(B)

[
H

(E)

38

(E)

=
(6,

(€)

39

(€)

[
(=)}

(A)

40

(D)

[
~N

(B)

41

(B)

=
00

(D)

42

(€)

[
o

(D)

43

(E)

N
o

(B)

44

(D)

N
=

(D)

45

(D)

N
N

(D)

46

(B)

N
w

(E)

47

(E)

N
H

(A)

48

(E)

N
(%]

(A)

49

(€)

50

(A)




